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This paper consists of fifty multiple choice type of questions.
3. At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker seal and do not accept an open
booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/ questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be gi“l;&
After this verification is over, the Test Booklet Nu r
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4. Each item has four alternative responses m:ilg&i 1), ), 3)
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put @any mark on any part ofithe ©MR Sheet, except for the
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your identity, or use abusive language or employ any other
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using wh1}e fluid, you will render yourself liable to
disqualifigation.

9. Youhave fo return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it withyyou outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy @ OMR Sheet on conclusion of examination.

10. Use only Blue /Black Ball point pen.

11. Use of any calculator or log table etc., is prohibited.

12. There are no negative marks for incorrect answers.

13. In case of any discrepancy in the English and Hindji versions,
English version will be taken as final.
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COMMERCE
PAPER - II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Environmental degeneration does not consist of : <y S
(1) Land degeneration and soil erosion _( Yy |
(2) Problem of over grazing and ecological degeneration \J / ’
(3) Floods ¢ F
- |
(4) None of the above 12 X
1%
2. Which of the following is not the main objective of"q:i(?l Poli(y of {r__idia” ?
(1) To increase liquidity in economy ' Y )
(2) To promote price stability
(3) To minimize the in-equality in incomejfand wealth
(4) To promote employment opportunitie
3.  Liberalization means : ’ /
(I) Reducing number of reserved *&tries from 1@
(2) Liberating the industry, tratgfand economy frem unwanted restriction
(3) Opening up economy ;r_q‘_t‘e world by attaining international competitiveness
(4) Free determinatiort'!l of interest rate
<34
4.  Assertion (A) : Inddstrialization of an economy is considered synonymous with growth.
Reasoning (R). The transyer of resources from agrarian to industrial may be capital or labour

d ‘ or both.

““Codes : * 5
( (1) Both (A) anl (R) are true and (R) is correct explanation of (A).
" (2) Both (A) anld (R) are true but (R) is not the correct explanation of (A).
(3) "(A) is true but (R) is false.

4 " (A) is falsdbut (R) is true.

5.  Globalizationis the term used to describe process of removal of restriction on which one of
thedollowing ?

(1) oreign trade (2) Investment
(3) Both (1) and (2) (4) None of the above
oasss ||| 1NN : Faper
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6. Interest on loan taken for the purchase of fixed assets is a :
(1) Revenue Expenditure (2) Capital Expenditure
(3) Deferred Revenue Expenditure (4) Capital Loss
7. Dual Aspect Concept results in the following accounting equation :
(1) Revenue = Expenses (2)  Capital + Profits = Assets + Expensesy
(3) Capital + Liabilities = Assets (4) Capital + Drawings=Owner’s Eqw‘:‘ _
8.  Match the items in Column - 1 with the items in Column - 2 : \l /‘ II
Column -1 Column - 2 r r
(a) Materiality Concept (i) The same accounting meghod used;by a firm from
one period to another% _
(b) Going Concern Concept  (ii) An mapp‘r(_}pﬁzste as(umqtlon of a firm being
bankru )
(c) Historical Cost Concept (iii) A nor asis used for accounting assets
(d) Consistency Concept (iv) Relages to the importance of an item or event
Codes :
@@ (b) (o) (d) :
(1) (v) (@Gi) @) () . /
@ O G G ] e
® @ @ @ 0 4k :
@ ) @ o ) N
-
9. ‘X Ltd. has a hqu1d..,raz’1d.of 2 : 1. If its stock is ¥ 40,000 and its current liabilities are of
T 1 Lag, its current rafo W‘ﬂLbe
(1) 1.4 times*{ (2) ‘ 2.4 times (3) 1.2 times (4) 3.4 times
10 Companson o 1nanc1a1 statements of the current year with the performance of previous
years of the sa , is known as :
Trend Ana sis (2) Horizontal Analysis
JAntra - firm' comparison (4) All of the above
11. T Marshalha utility analysis is based on a less valid assumption of :
(1)} , cardinal measurability of the utility
(2) 4 given marginal utility of money
(3) c{ iminishing marginal utility of the goods
(4) additivity of the utility
oass [NV ‘ Fapec
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(1) ST = (2) S =
() R A =™ (4) Ysi-=A

7. TreifeRd wieRtor fguafier staremon &1 9o 2 :
1) FIF==94 (2)  YSI+ H = FEafaEi + =9 1

. : ; . P
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12. Match the items of the List - I with those of the List - II and indicate the correct code :
List - I List - II
(a) Convexity of the indifferences curve to origin (i)  Indifference curve analysis
(b) Quantity of certain goods sacrificed for a (i) Consumer’s equilibrium
large quantity of other goods
(c) Equality of the ratio of the marginal (iii) Substitutability /complementarity
utilities with that of the prices of the of the two goods ]
two goods ‘ { S
(d) Separation of substitution and income (iv) Marginal rate substitution W
effects from the total price effect v A / ' -I
Codes : >
@ B © (@ ..r bl
M @ 6@ O G T2
@ i) ) @ 0 T Wit
@) i) 6 @) G e L Ul
@ O @) @ W B ~
13. Firms producing and selling a large variety of goods willjgenerally follow :
(1) Cost plus pricing (2) F Margigal pricing
(3)  Skimming pricing (4) | Produét line pricing
14.

code :

Assertion (A) : All firms undé®p

For the following two statements o@{sertion (A) atﬁ'lﬁzésoning (R) indicate the correct

ect competition/in long run earn only normal profit.

Reasoning (R) : All firms un‘i perfect competition in long run operate at the minimum

average costilevel.

Codes : v

(

(3)  (A) is not gorredt but‘ (R) is correct.

1)

' &
are, correct.

(A) and (R) bo‘iu

(2)
4)

(A) is correct but (R) is not correct.
(A) and (R) both are incorrect.

15. Match the itqfni of List - T with those of List - II and indicate the correct code :

(i

a

)
b)

List -
Substitute
Complemenitary Goods

odas

(e) Giffen Goods
(&) = High IncoJ1e Group Consumption Goods
Cades :
@@ (b)f () (d)
(DN G @Gv) G @)
@G O (v) (i)
() @ @) @ (@v)
@ @ @ @) (@)
oasss ||| 1NN :

(@)

(ii)
(iif)
(iv)

List - II
Negative Cross Elasticity
Low Price Elasticity
Positive Cross Elasticity
Positive Price Elasticity

Paper-11
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16. Which one of the following is not a method of studying association of attributes ?

(
(

1)
3)

Concurrent Deviation Method  (2) Proportion Method
Yule’s Method (4) Coefficient of Contingency

17. Identify which of the following steps would be included in hypothesis testing :

(a) State the null and alternative hypothesis.

(b)  Set the significance level before the research study. " A"

(c) Eliminate all outliers.

(d) Obtain the probability value using a computer program such as SESS. o

(e) Compare the probability value to the significance level and make th!fatlstlcal decision
Codes : ¥ y

(1) (@), (c) and (d) (@@@a@ “~ 4

(3) (), (b), (d) and (©) 4,>Qm '

18. Select the methods of finding out correlationffrom the following :

(a) Karl Pearson’s Method

(b) Spearman’s Rank Method

(¢)  Yule’s Method /
(d) Coefficient of Contingency ‘ :

(e) Concurrent Deviation Mefho

Codes : _}_j

1) (@), (®) () ' 2) (@) (b) () (d)
3) (@) ®) (e ) (9, (@), (e)

i"""x
( ‘-'

19. A set of data cah be distinguished from other set of data by means of :
¢ (1) Cer‘ltral'ixf ue and dispersion

(
(

%)

3)

Central v \‘,\ispersion and skewness

Central val@le, dispersion, skewness and Kurtosis

4) _None of th¢ above
o .
20. The advent of computers in research has led to :
(1% . Limitations of options in analysis
(2) 4 Tremendous amount of flexibility with marginal increase in cost
(3) Myopic exposure of statistics to the researcher
(4) None of the above
oasss ||| 1NN ; Faper
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(1) wwedt fo=em fafy (2) oTqua fafy
@) I fafy (4) H=IASIHI 0T
17. Y& & 90 & foau f=fafea § @ fea = o1 gfmfaq fea s ? gg=m #ifse
(a) THd Td Shicuch GhedIsTl ol HeH <\
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‘ L
e r
1) @ © T 2) at ©) (
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18. frefafad § € He-wwy &1 S o oy T wgt fafy &1 =77 HiT
(a) e TrEs &t fafy
(b) Toreds =1 & fafy :
(c) I =i fafy £
o 4 ("
(d) RISl O \
(e) Tl formem fafy P
7 : M
1) (@), (b), () ' 4 (2)  (a), (b), (0), (d)
G @ b = 7 4) (o) (d), (e)

.
19, st T AT g S me A A o o et § % e 2
(1) et qga 8 yentor
@) FEE e, 3 Su=
(<
@

3) e o, , U= 3R petfad
)‘sqﬁaaﬁﬁ Bl

20. Wﬁ?ﬂ?ﬁsmﬁﬂﬁ oM R
(1) fogedwor o foredi 1 qRE™ A
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21. Who among the following is not related to the planning function given by Taylor ?
(1) Route clerk (2) Time and cost clerk
(3) Inspector (4) Disciplinarian
22.  Match the following :
(Book) (Author) -
(a) Functions of the Executive (i) Charles Babbragg, / .|
(b) On the Economy of Machinery and Manufactures (ii) Henri Fay
(c) The Effective Executive (iii) Chester‘ﬁ'nard
(d) General and Industrial Administration (iv) e“iie]{ Druckér "
Codes : 5 ‘\‘ ( ..
~q
(@ (b) (o) (d) ) ;. |
1 @ @) 3§ (iv)
(2) @) @ (@v) ()
() (@v) @) @ ()
@ i) @) O AL
4 ("
23. The classical organisation theorYMtrgats organisation as a/an :
(1) Open system = .A‘ (2)  Closed system
(3) Technical system ' & (4) Macro system
| - %
24. Which of the fo owmg is a‘s’gfstematlc interactive forecasting method that relies on a panel of
experts ? -_
<(1); Pay-off : ix (2) Game theory
( (3) Queing thg%\ (4) Delphi technique
25. A.ccordmg to Hersey and Blanchard’s situational approach to leadership, the “participating
& of leaders ip has :
High tas and low relationship orientation
ngh task and high relationship orientation
]fcr)w task and high relationship orientation
Low task and low relationship orientation
Dasts HIH\I\HIIH\IIIIHHHHHIHHIIH\I“HIII\IHHI\ 1 Fapec
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21.

22.

23.

24.

frafafea & @ o6 Ter gr fAfie 9 Et & 91y gt T8 e ?
(1) ¥ F*H (2) 3MEH TS HIE Fh
(3) TR (4) fefafertem
fefafad w1 gafaa Hife “\
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(a) THORIE AT T Weigied (i) %naﬂfa@a\.." <4
(b) & T THH HE IR TS SR (i) & wEA r
(c) < Shie TWsIgied (i) ﬁ'e,'{frﬁé g I
(d) SHa e sefgad et (iv) 7 = F
% : 1 “"“ fﬁ( {¢
N

(@ () (¢ (d
1 @ @ @) (@)
(2) @) (@) o (v) (i)
) (v) (@) (@ (@) i y.
(4) (@) (@v) @@ (30 4 ( f '
3T &1 W fagr W?j T R
(1) it sHaEen - (2) = dg AR
(3) Rt aqa@nt( ': & (4) TS HawRr

N
a J ‘-"
fr=fafea fff} ~Ht T afteq sauEars! qargar fadft § i foriei % W W eneifa €2
<L) 9-ATE e 2) T fagm

25.

((3) vﬁamﬁq:;’a (4) STH! AHTH

%:c’f,g,;H\oa’mé Aqcd o IR AW & ATHR Aq 1 gfaar Seft’ 7 fafea ©
(1) == =6 @ 7 9979 3@
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26.

27.

28.

29.

30.

D-0815

o g

(

Which of the following is not a reason for the failure of new products ?
(I) Good idea but overestimated market size.

()

(3) Development costs are lower than or equal to estimated or expected.
(4)

Correctly positioned new product, not promoted effectively or overpriced.

Competitors fight back harder than expected.

|
“ 2%
Which one of the following is true for the calculation of overall market share ? i
(1)  (Customer penetration) X (Customer loyalty) X (Price selectivity) 4 , - < )
2 Customer loyalty) X (Customer selectivity) X (Price selectivity) r’ > r’

2
(3)  (Customer selectivity) X (Price selectivity) X (Customer penetratiom) |
)

v
4 Customer penetration) X (Customer loyalty) X (Customergele?tﬁyity) X d’i;ice selectivity)

L €

is wielded by a manufacturer that thuéatens to WithdrawL resource or terminate

a relationship if intermediaries fail to cooperaté.

(1) Coercive Power (2)

Legitimate Power

(3) Expert Power (4) I ReferehcefPower

When the consumers favour those oducts which o / most quality, performance or
innovative features, then it is called

(1) Production concept ﬂ { Product concept

(3) Sales concept Marketing concept

Match the items of List il“WIth List - IT where the PLC curve patterns are given for different

-
categories : b

List - 1" {4 List - 11
(a)  Produef cztegory (i)  One of several variant shapes
(b)" Product for (i) Longest PLC
() Products }k‘\ (iii) Standard PLC
(lgl) Branded Products (iv) Short or long PLC

C-oggs

(a) (b))(c) (d)
(l& (i) @{dv)" () (@)
@20 (@) () i)
@ & (i) (i)
(4) (@) (i)

(iv)
HII\I\IHII\ z
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26.

27.

28.

29.

30.

D.ass HIHHIHII“H\HII\|||M||\||

YU e
IEEEERIIES]

I SATEROM
forsnt eTgEmon

(SYHIERT U)X (ShTHT SROTAT) X (SYHIHT 9 )

freAfafed # @ $F-91 T T 3UE & STIHS 8 HT HR0T & § 2

37591 ORI 9IR & SR 1 STTHEeha

T ICAE T Hal T, TR JTe &1 F Fardd g1 a1 STea ST hiAa e W T |
TR ARTAT 1 STIHTMG STeTa STUTRTd ARGl o SXIeR A1 379 ¥ B |

Tl 1 STaaeRd STt e e
%
L
AT SR & 379 1 701 F fau Frefafed § @ w9-91 96 82 ( iy
- |
1)  (SUHET 9e7) X (ST i 1) x (HiHd aorar) A} /1'
(U i F73T1) X (STAEFT IOMT) X (higd aordT) r r

-

(d)

i) (i)

(ii)
(ii)
(iv)

(SN UeH) X (SUHTHT 1 Fa7) x (B’QW ‘oR'UI?lT) x ( ﬁ{fﬂ?n) r

Hrel ] THI T Bl AT a1 2|

1 YA ARl shedr ® S TRt awnwvﬁé?mﬂqgﬁm
)
(4)

quﬂwwmaﬂq%@ﬁ%ﬁﬁ*(lqdl I'-IWICH Wﬂqldluar_or@ﬁ% T9 T Fed |
1‘{( IZ ST

(4) %rwqaqawrrn

Tt - Iﬁﬁﬁ%lfﬁﬁ@gﬁﬁﬁﬁﬁ@ﬁ%ﬁfﬁﬁ&ﬁ%%ﬁﬁwﬁ o e

Tl - 11
(i) S IREd &9 H 9 TH
(i)  <reiq o Te .
(iti) TR E.TAHL
(
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31. The term ‘capital structure” implies :

(1) Share Capital + Reserves + Long-Term Debts

(2) Share Capital + Long and Short-Term Debts
(3) Share Capital + Long-Term Debts
(4) Equity and Preference Share Capital

ol

32. A company has issued 10 percent perpetual debt of X 1 lac at 5 percent premium I7< rllate

is 30 percent, then the cost of debt will be : W .
(1) 10 percent (2) 15 percent r . r
(3) 6.66 percent (4) 8.21 percent . - X !

d

- 3
1 ‘..". r
33. “Dividend is not relevant in determining the Vah\e ﬁt‘ the ctmpe‘ny Who among the
following held this opinion ?

(1) J.E. Walter (2) zra Soloman
(3) Modigliani-Miller (4) § M.J. Gord

£

34. The formula Q is used to compute *e :
2 <

(1) Total ordering cost | (2) Total carrying cost
(3) Opportunity cost .j (4) = Re-order point
r'
A 4
35. Financial Leverage is?neag,ured by :
EBIT </ ) {“EBIT , EAIT o C
EAT Hl’) ( i)_ ‘EBT EBT ) EBIT

- p
36.( Which of the foll\v\}\g is a key role of HR Manager as defined by Ulrich et al (2009) ?

"(1) Personnel Administrator (2) Business Ally

‘
(&)F’ Payroll Advisor (4) Organizational Geographer

37. WaRich of the following is the most serious problem that might arise due to excessive reliance
on Mternal recruitment ?

-~
(1) ®duced job performance (2)  high labour turnover
(3) lack of motivation (4) internal resistance
oass [ [ HIMIATIAIE 1
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31. ‘ST g’ U 1 SRE R

)
2) 3T YSit + SrefRTel TH STeushiei R0l
) S Y + SFEiehTe R

) A ™ YA A9 g

32. & ¥ A 5 fqed Sifeeed o |19 10 Fiawd weed k01 3 1 A H ﬁfﬁﬁmljg?'ﬁﬂ

30 Ffderd & < o1 T YSiT-ARTd S
(1) 10 gfaea (2) 15 gfawd r

-

(3)  6.66 Fiderd (4) 8.21 gfderd '.;

-

33. Wﬁwﬁaﬁmﬁmﬂmwﬁ@ﬁ%‘l @'ﬂ"é’%@ﬁ‘ﬂﬁ%7
(1) .3 e
(3) e 9 faer QTI@

34. ?ﬁﬂﬂ?ﬁﬁﬂﬁﬂ%ﬁa‘lﬁ T %Rwhe‘n ST %

(1) FA AR ATG <

(3) SRR Y (4) : ﬂé‘ﬂﬁ@
35. Wﬁaﬁaww:ﬁ#%{
SR ( | SR S e, =
o . @ “iaa ®) “iaa 4 e,

36. (ﬁmﬁr@ﬁﬁj;i? 3T (2009) GRT ARG TH.3TR. Fal-eeh i -l e T&7 © 7
(2) =ie fia

!FW“TVW (4) HISTAHE JAfa]

T § o - T FEE € Sl e Wl 9 2l ot 4 ¥ wel 8 Wbl § 2

Wt e § e (2) = g8 A
(3) STFHUROT T (4) ST=Re FhaaY
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38. Match the methods of performance appraisal given in List - I with the explanations given in
the List - I :

List -1 List - IT

(a) Behaviourally Anchored Rating Scale (BARS) (i) Evaluator keeps a log of
critical incidents to evaluate

performance 14
(b) Management By Objectives (MBO) (i) Evaluator indicatés ortfascale
how often.\th,e é'f)pr??e was

actually observed engaging in
the spefgific behaviours

already""l’denﬁifiedJ
A
(c)  Critical incident method (iii) V'hl.uqtor ratds on the scale
e k‘ escyibed in the form of
| Critjpil incidents
i ’\ »

(d) Behaviour observation scale iv) Systematic and organized
approach that allows
management to focus on
achievable goals

£

= W

r
39.(The internal fact ?a\fecting the wage mix include :

(@) "Relative worth of the job (b) Area wage rates
T
~
(c} Employer’s ability to pay (d) Manpower market conditions
Codes :
-~
(1)" (@), (b) and (c (2) (a) and (c)
(3) (b), (c)and (d (4) All of the above
s \HH\IHH\I“H|||\|\||H|\ 1
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38. g - I, od froae qeaisd fean o0 §, &1 9= - 10, e et =men & %, 9 gifaa
: :

et - 1 gl - 11
HEER T UG AT @hed (FTHARTH.) (i)  FHeAihTehdl TR sl o1 e
r@m%maﬂma%%wés
o | H 7 "'
Al GRT Yo (THE ) (i) t@mﬁ@ﬁqﬁm%ﬁw%
%r@mﬁﬁﬁﬁwﬁm
W@taﬁm%faﬂaﬁw%’é
@E‘Tﬁﬁmﬂﬁ%‘l .

TR T fafy ﬂlﬂw T IH HIfe oG I

# % foet TR seetl & w9 ° gfvig

TR
IIER W&T0T YA v) T Faftyd ©d "ufed surm it
f T ) AT A8 W Shigd a1 R |

()
A
& : ‘f"
@ b © (@ 1 1 :
M @ @ 0 G
@ 6 @) 'i“l
@) G @) @ ((u) “3
@ @ O (6 @@
._"".
. ; |
39(%@&?%1?4%9 TS ATINF FF ¢
T OIRERESEUE

! ERIES] ﬁ}aqlq o s Emed (d)  9SR § Ae fed grerdt aftfefaed

(3)

D-0815

) (@) &R (0)
), () 3R (d) (4) ST |t

il 1
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40. Match the items of List - I with the items of List - II :
List -1 List - I

(a) Giri Approach (i)  The utility of non-violence as the means of
conflict resolution.

(b) Industrial Sociology Approach  (ii) Organizations are made up of people and the
success of management lies in its dealing with

these people - (
(c) Gandhian Approach (iii) Voluntary negotiations between ‘emp f
and employees are a means 6f settling

(d) Human Relations Approach (iv) Investigating the undelrgllng trendg and
patterns in the cause and" effect of industrial
disputes. ¥

< N 3

Codes : % .

@ () (© () I ‘
M G G 0w

@ G () @) (i)

@) @ G @) ) ;

@ O @) Gv) G £

o
41. Assertion (A) : Taking of dep&t%md granting of loans single out banks.

Reasoning (R) : Banks act as_ n‘ermediaries when they mobilize savings from surplus units
to shortage units in order to finance productive activities.

Codes : A ‘-

| »

1) Assertion (A) i3 corrget and Reasoning (R) is the correct explanation of (A).
L f 8 P

(2) Both Assettion (A) and Reasoning (R) are correct but (R) is not the correct explanation

_of (A)W 4
(" (3) Assertion \icorrect but Reasoning (R) is incorrect.
Reasoning (R) 1s correct but Assertion (A) is incorrect.

S imming” in banking refers to :
(1 Ident1fy1 fraudsters copying vital information from credit cards
(2) Multlple transactions by one credit card
(3 ('r(')nversmn of a debit card into credit card
(4)

4)  None of the above

oasss [N
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40. - 1! 931 1 G - [ 6 76l 9 gAfad i
T - 1 et - 11
(a) TR 3UmH () foar gorsm & foau wem & 9 § sifde &t suea

(b) TN OO WA SUFH (i) TS ATl W Id § IR Yo i Thotar 36 A §
foh o8 T Al A FM AR FA T o

(c) TEiETEl IUNH (it) TSR TE HHARAT & o= & e @i gﬁ%? fere
;S T e E g /1 ,I

(d) - A (iv) WW%W@TQWFW%?@F@
Wﬁ%ﬁ%ﬁﬂﬁ!‘fsﬁ?wwﬁqsmm‘ >

7z <a N f

b) () (@ Y S (¢
| '\ h

(
M () G @) )

@ G Gv) @) i) !

@) () @) @) (v

@ G @ Gv) (i) .

v
41. TgeE (A): MW @SR FH @%WW%WW%I

qeh (R) : foreer SeTeh, oo 1w & foraenaeegs shEdl 9 SHIST w9
T T o T e 3 Wl 3 o w e
%< : <14

(1) FroeE (a) T éﬁ‘f‘iﬁﬁ(R), (A) T T = 2

() ﬁm#(k@afmﬁ*(r{)ﬁﬂér%m(A)ﬁaﬁwm(k)ﬁ%
40)J ﬁmﬁ'{(‘)ﬂﬁ%mﬂiﬁ(R)W%l
((4) T-@?(R)ﬁﬁ%ﬁmﬁ(mﬂm%l

¥ -
42. SdfEHT A T aAfuum T
(1) shfee HIE 8/ AEEYUl SHHRI i Thd HLA aATel @SS TG BT

(2)\y T Hfee =€ ¥ fafay =eer
@) W e FE = e FE F TR

(4) SR H F HE T
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43. Match the items of List - I with List - II in terms of functions of a bank :
List - I List - II
(Activities) (Functions)
(@) Underwriting (i)  Primary Functions
(b) Transfer of funds (i) Granting Advances
(c) Overdraft (iii) Utility Functions P, &
(d) Recurring Deposits  (iv) Agency Functions ( i)
Codes : A 2 % / ' |
@ b © @ €Y 7r
O O @ ) - |
@ @) G @ 0 A4 ,,'
1 »
G) i) ) @) 0 L (
@) @ @) @6 ' 4 *
44. Which among the following is not a subsididry of Reserye Bank of India ?
(a) Deposit Insurance and Credit Gaurantee Corpprgtion of India.
(b) Bharatiya Reserve Bank Note Mudran Private L miteq. /
Codes : 4 ( r‘
(1) Only (a) < ( (2) Only (b
(3) Both (a) and (b) ‘ .j (4) Neither (a) nor (b)
45. Which among the follov!nég is not associated with NABARD ?
(a) NIEAF ( \BIRD (c) RIDF (d) SHPI
Codes : | ) ‘
D, @ ,only") (2)  (b)only
(’(ﬂ (b) and (c) (4) None of the above
46. Examine the following statements and choose the correct code :
Statement - (I) 4 Companies with Low cash reserves normally prefer Licensing mode rather
than Foreign Direct Investment.
Statement - (II) : Cash rich firms normally prefer Foreign Direct Investment.
Col S :
l{)th (I) and (II) are correct (2) Both (I) and (II) are wrong
(3 (I) is correct but (II) is wrong (4) () is not correct but (II) is correct
oass ||V 2 Fapec
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43. % % FE % Gad § Gt - [ 1 7&1 H1 FHAH G - 11 7= % 0 FHirord

A - 1 A - 10
(ferarwReTT) (=)
(a) AP () Ty wE
(b)  RIHI T TR (i) TR 9eH *
(c) Afufasd (iii) ST R « 14
(d) e SR (iv) Tt & __( o |
%< ; \¢ / v/
@ ® © @ f F
1 @ G ) (111) - '
(2) (v) (i) (i)
(3) (i) (iv) (i) | f.'
@ @ ) @) 1'
44. Trfafed & @ 1 T IRdE e 5@ #1 ?
(a) R STHI STHT T | geanyd frm
(b) RdE Red d% e geu uee fafies
< :
(1) *ad (a) > ‘gz e (b
(3) (a) 3R (b) T ‘1 4) (a) 3Y(b) § & FIE T

Ji
45. fr=fafed & @ s@-a F 1Y Heiferd 7TEl © 2
(a) TAIEITTF. g (b)- FLAEAREL () RIAEIETE  (d) THTEWE.
W : ( F 3
(1) F59 @), (2) F9 ()
“5(3) waE (b) b ) (4) SR H 9 B &

(’

46. ' Frfafad sl &1 Thew FIC SR & Fe H =TI HIT
FaA- (1) : )ﬁﬁr STRIeT FTeha! ATel! Al A faesh geret FHew o oM T asa T

F fafr =1 srferam e ¥
:&-(II):

Tohal § 3R wrafaai arraaan faesht g faw o1 stfemm <t €1
(1) (ﬂaﬁx(n)?ﬁﬂﬁ%l 2) (1) 3R (1) I Terd |

(3) (1) 92 & 9% (I1) T € (4) () o § TG (I1) T 2
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47. Which one of the following is not a feature of Business Process Outsourcing (BPO) ?

(1) It enables executives to concentrate on strategy

(2) It improves process and saves money
(3) It decreases organizational capabilities
(4) None of the above
) |
48. The major outcome of the Bretton Woods Conference was : ( 1)

(1) Establishment of IMF and IFC (2) Establishment of IBRD and4FC - / » /
(3)  Establishment of IBRD and ADB (4) Establishment of IMF and ﬂRD ; r
-

v/

1
49. Which one of the following is an important activity of the Wotld Baihk borrorﬁngs ?
Pa%
(1) It borrows in the international capital marke_t.I k‘ ‘,_

| i h
2) It borrows on currency on swap agreemefits - r J

()
(3) It borrows under the discount net progfamm:
(4) All of the above

50. Which one of the following statements is false ? /

(1) IFC was established in July 19& ( ‘

(2) IFC encourages the growffagtl development of Public Sector Enterprises in member
countries

(3) IFC is an affiliate of the World Bank

(4) IFC encouragea,th} %rowth of productive private enterprises in member countries

(""\
Fa
":"

. -00o0-
: 4
1
i - ]
-..( J
-
F
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47. Trefafed & @ FF-w1 =R gfwan #i sseafdn (shden.) w1 weror @ 8 2
(1) 38 FHEHNE H1 WHITT T THT EH F A7 76 2 |
(2) ¥ Yishan H FUR Tl & 3R & 1 = 7
(3) UE HISHS TWeA I T ¥
(4) ST H ¥ HE T

Db
48. S gH HI%HE H A i o j‘ o |
(1) STE.TA.UE. IR TE.TH.T. 1 T \J / ol
Q) SEAARA. s ETE R, F T &Y 77
(3) SEAARE. SR T, F T 2 Vv
(4) OTE.TA.UF. R oS TR, FY T .i 1 ..% 4

- “\_ :‘ ‘

49. fr=fafaa § 4 sF-1 fava o SUR =1 emavg 0 7]
(1) % AL YTt SN & SR &A1 |
(2) SEH-YSH A o =TI I8 ET W PR AT € |

)
) T S TE1 HRHH T IUR Al T
)

STl | | ‘( r"
50. frefefed § & #F-w FoM %.4 (

(1) STE.TH.H. i T ﬁsné,‘l%e qgE

) aﬁ.w.ﬁ.w—ﬁ%%ﬁ%%%wﬁﬁ%@%mﬁmaﬂﬁ%l
() E.UEH. fava@s & g=s B

(4) aﬁ@ﬁjﬂw—@g‘ ST &5 < 3STsRAI i gfg IR foewm &l Uierfed &l €|

£

3
(4

"
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